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7 EH HEX #aiAc|6. 22. 15
8 B BE #aiac|6. 25. 15
9 =X EF #A (6. 25. 19

10 | /B & FA |6. 35. 05
11 INE EHE #ETAC|6. 47. 03
12 | LB X% HETAC|6. 51. 25
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64 1500m

I 5z K % FiE | &8 $%
1 B RE =5 [5.41.32
2 BK EE E= |5. 50. 32
3 KA /ME E= |5.51.77
4 T8 i #ETAC|5. 53. 73
5 WA =F #ATAC|6. 05. 46
6 el &% E= |6. 14. 03
7 AIE BE EE |6.21.80
8 WA EKk HE (6. 26. 47
9 HEEZES #E |6.28. 14
10 | #8K 3 M |6.41.08
LK KTE ES DNS
5% EEH
I 5z K % FiE | &8 $%
1 TH =W =5 1mO05
SRS DE
| B F RO NM
6% EEH
I 5z K % FiE | &8 $%
1 B35 A% B 1m15
2 AR BHF B 1Tm10
3 INR $E2 +B%| 1m10
4 A ZE ItEH%| 1m05
5 =B# = HE%| 1mO05
6 mENIEE & 1m00
6 B EX B 1mO00
SN
| &l ®=E RO NM
5% FEfgsk
1§ 5z K % e | &8 8% | A
1 WIZEVES PN 3m70 | +02
2 RIS B 3m64 | +05
3 HAEHR & 3m46 | +09
4 NHE FppE FES 3m39 | +03
5 g = #ATAC| 3m12 | +01
6 Wik fefiE #atAC| 3m11 +0.5
7 ER FIE BES 2m97 | +05
8 #HF A% PN 2m95 | +00
8 INME HT] [EES 2m92 | -02
9 i EEFEA #aiac| 2mo0o | +00
10 WH & & 2m78 | +03
11 ElG MEE & 2m72 | +05
12 EH %E BB | 2m66 | +07
RSN
BRI i 3m10 | +08
EE #A i 3m08 | +05
) EME i 2m74 | +03
INE #EE =% | 2m66 | +08
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64 JEfEEk

I 5z K % FrE | &2 8% | A
1 Bk BX +B%| 3m90 | +06
2 EH EE B 3m57 | +06
3 ¥ HHLy GES | 3m48 | +02
4 ZE tE B 3m42 | +06
5 #H ftH B 3m34 | +08
6 HE BH =5 3m21 +0.7
7 KE KB EHE 2m90 +0.6

SN
| o EHHH [#a1AC] 3m50 [ +0.0
58 ¥y S,

I 5z K % FiE | &8 $%
1 EH ETHR 4 H%| 31m33
2 Wi Bk A | 25m68
3 BB R O | 23m84
4 g = #ATAC| 17m95

SN
B =& =5 | 16m20
BK FEREB =% | 12m70
BF Kk il DNS
65 TwYwy S,

I 5z K % FiE | &8 $%
1 L EEHR Bl | 40m41
2 #HE R JtH% | 36m89
3 =il HEE | 32m25
4 =—B# = HEE | 30m90
5 FE BR =% | 30m00
6 KiE KR E= | 28m22
7 W ¥m A | 27m06
8 mENIEHR & 18m56

hZEEFDE
24 100m

I 5z K % FrE | &2 8% | A

1 S FEEX = 1255 +1.9
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